(e What is biodiesel ? How is biodiesel
produced ? Discuss. Write the
advantages of biodiesel. 3+3+4=10

IEferEs & a6 (@@ 48 39 ZW e
EEIG! = | A8 e IR RIS Fi |

() What is fractional distillation ? Discuss
briefly the principle of fractional
distillation. Explain the process of
fractional distillation. 2+3+5=10

wiefis siieet & ¢ TR IE TUEE TS D
T | ST SIS SIEE e &= |

{gg How is wviscosity of lubrcant
measured ? Discuss the importance

of animal oil and vegetlable oils.
3+5=10

dfrfoy (TFR Awel (@ Wi TR 5T
olaTe] SIS Blenee (oFd A SIS 3541 |

(h} Mention the effect of pressure and
temperature on carbonization of coal
tar. Write the negative impacts of
burning fossil fuels. 5+5=10

TFRNST WETe b7 OIS SeR el Y
T4 | T T WER GRR TS (R WA
YoRR [Raca ol |
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OPTION-A

( Analytical Clinical Biochemistry }

Paper @ CHE- SE-4014

Ancwet any four of the following
(Choone the correct answer / Fill in the

1x4=4

frleirih)

et Jurapiretl DEABT 1811 ey et Al B Ao
St [ slld e et

(et} 1In cukaryolen, oty e i neak down

(b)

(c)

occurs imside
AT (FATE (PG, (e Aalela it qeb
{i) mitochondrial matrx
EGGAR SLA et o -
(i) cytosol
EEeE [Egay
(iii) cell membrane
(@R feds
(iv}] endoplasmic reti alunn
W 2T il et

is the simplost anno acoid,

AGE Ll Ay el e

types ol oo acwds are

required to synthensse protein.

3 Sem-4/CBCS) CHE SE 1/2/3/3/5316/¢ 2

(@

fe)

(g

(h)

3 [Sem-4/CBCS) CHE SE 1/2/3/4/5,6/G 3

o sz ana ey G’ afges

“Araie] 23 |

Pentoses present in DNA and RNA are
and respectively.

DNA % RNA T 24 <l%T w&al 7Ry T
T l

Which one of the following 1s a non-
digestible polysaccharide ?

TR (FWEY W G WA (WK T2

(i) Cellulose GFAS
fiij Starch > IGEAE|
{iii) Inuline T
iy} Glycogen sNEFTE

Arachidonic acid has 20 carbon atoms
with double bonds.

aifEe v afmee 205 T #[/Ei 4iE O
aar] AF |

Numerical changes in chromosomes are

called

TG T TR AT

(e 'Y

Lactose is composed of and
I ol 02 GT5'a MR 2|

Contd.




2.

Answer any three of the following :2x3=6

WWWWWW

{a) What are called denaturation and

(b)

(c)

(d)

(e)

i

coagulation of proteins ?
op e FOTTHIEDH S SO T A ¢

Define co-enzymes and co-factors.
FZTHS T AL TR feral|

Write two biological roles of DNA.
DNAT 75/ (e ] it Tl

How does pH affect on enzyme
activity ? What is called optimum pH

range ?

RS SIS AT pH G s wroE [
(a7 SRgeTed pH Sl G e

What are biocatalysts ? Give example.
T RnE Ry e

What is called rancidity of Lipids?
Gifrea @ JFE & g@l?

Answer any two of the following :

wﬁm@mwma

(a) Write 2 note on the classification of

5%x2=10

enzymes.
B (HTRE o7 51 (B i

x e 1{CBCS] CHE SE 1/2/3/45/6/G6 4

(b}

(c)

(@

What is biocatalysis ? How is it
important in green chemistry ?

(54 WREA [ 2 (IeG iRae TE g e

Write a note on characterization of
polysaccharides.

@R TR GoRT 51 (51 |
What are the structural levels of protein
organisation ? Explain.

2T HAeaoeT SlioiE o 2D & & e g

<4l |

What‘are the chemical components of
nucleic acids ? Explain.

ol afeea sARFT SomeeR [ &2 G
40|

Explain the mechanism of lock and
kev theory of enzyme action.

Lerad g weams Rl ape
4 |

Answer any three of the following :

10x3=30

wFR fareal fofant ok Tew Al ¢

(@)

3\8ei-4,CBOSH CHE SE 1/2/314/3/6/G S

Write a note on Kreb’s cycle
(TAFET Coe o1 (GBIl BT |

Contd.




{b)

{c]

(d)

(e

What are peptide hormones ? What are
the main types of peptide hormones?
Give the name of two peptide

hormones. Write about the
biochemistry of at least one peptide
hormone. 1+1+2+6=10

(ASBIZT TR [ 2 (A9HIRT QIR AR TR
@ & fr 7y (o hEe TR A
Rriza @b (FBiRE TaeeR (5% TAMGR ¢S
GRF

What is DNA replication ? Explain.

DNA SEEFSNE <67 €1 << |

How are proteins isolated and
charactenized ? What is protemn
denaturation ? 6+4=10

2o @ I e O AR
ze &' s &2

What is meant by genectic code?
Explain it. What are the properties of
genetic code ?

T waEe o @iE e ey w4 e
EN e i P Coe

What are liposomes? Write some
biological functions of liposomes.
Fere sz B0 o wEm e s
AT ol

3 (Sem-4/CBCSH CHE 8% 1123, 4/3/6/6  ©

{y) How many factors are there in blood
coagulation process ? Write a brief note
on blood coagulation process in human.

AG OEWTS I [TUHRY TIRE AYT AL
R (W54 Erew SfEihR erte 53 (B
GRIl

(h) What are the major components of
urine ? How can we differentiate the
normal urine from pathological/
abnormal urine in case of Hepatitis-B
virus infection in liver ?

YIR A TAMETR @ 2 Sl @S
foremR (2iibRbE-B oA WER (Fa49
Frelfes SIS THClfs/ @ a9 N
faefg =i =M= e

SiSem- 4 CHCS) CHE SE /2037405606 7 Contd.




OPTION-B

( Green Methods in Chemistry)
Paper : CHE-SE-4024

1. Answer any four questions : 1x4=4
Rizizent sifanr el Ted Sl ¢
i) It is better to waste than to

treat or clean up waste after it is
formed. (Fill in the blank)

e wme sigm (ER Pims Rm [ lRE

AT ©F G S5 (@7

AT | (5T HZ 7 =)
{ii) The Pollution Prevention Act of

was the first initiation in the U.S.
(Fill in the blank)

TEaige aan e fage e

AT T (R | (%1571 31Z 79 #0)
(i) The full form of CFC is
(Fill ! the blanh}
CFC 3 7= Al 2/ !
) (2T HiT o F9)

(iv) CO, exists as a supercritical fluid at

31°Cc and atm.
(Full in the blank)

3 1Sem-4/CBCS) CHE S 1/2/35/5/6/C 8

bl W 1
|‘n” -

)

(vi)

(vir)

31C U= atm BI?¥ CO,
TCTIR FAE AHT A T (] 5T o

=)

Define atom economy.

4579 At wieE

Name the drug taken by pregnant
women that may cause acute birth
defect.

SETS] WLAE 1 €Y (31 TNIN T AGE
S ﬁ@‘ T sffeeee 39 YK ¢

Catalytic reagents are superior to

stoichiometric reagent.
{Select True or False)

SEGR Y [AeRerd Afeaee Beeee F
kT TR | (ST (1 &% [F97 )

(i) For green synthesis of adipic acid

D-galactose can be used as the starting
material. {Select True or False)

—

Qg Gfges (FTT WAETE D-(5EE S

vidige TERE FH TRTE <4 T4 |

(o7 (71 &% 9% o=<)

Uiy GiES T3 E0 9 Contd




Answer any three : 2x3=6
figatea fofaore Tes <41 ¢

(a)

(b)

(c}

(d)

(e)

Write a chemical reaction carried out
in water as a solvent.

ATERE A AEeE (2 AR Rie 9ol
GE

What are the goals of green chemistry ?
Write two addition reactions with 100%
atom economy.

| S| P[Ee qE (2R 757 (AagS RieuE
T fH i

Write the chemical reactions mvolved

in green synthesis of benzoic acid from
toluene.

TeaE o)l (AT e ofied (RieE ATEEd
TR [l o)

What 1s right fit azo pigment ?
AT 97 155 e

What is the structure of TBTO ?
TBTO 9 9= & &7 |

3 Sem-+/CBCS) CHE SE 1/2/3/4/5/6/G 10

Ve

Write short notes on (any twe) : 5x2=10

frr 7517 e v (o e e
(1} Bhopal Disaster
AR Tl
{u} Vietnam War (1970}
REGaNT T (>»90)
fiti) Antifoulants
AT
fiv) Green synthesis of ibuprofen
TLIATTR (e FRET

fv) Green solvents for chemical reactions
e [iFae Fae I9ge Ges w9

fui) Pressure treated wood

(o5 BT 0o

Answer any three questions given below :
10x3=30

v foal fara fofabt e Tes ol

)  Write the use of surfactant CO, in the

field of dry cleaning.
w6 SREIT FPeRs CO,9 aeER] fa

lGEHE

B Cie 82 1,2/3/4 37606 111 Contd.




(b)

(c)

(d)

(e)

Explain the use of antifoulant in the
field of water transportation.

Erey 91'&]2@*-4; ChE QIF'\_GQ' E,G'W'T’% LS %3@ 1%3]%
e
Use of chromium and arsenic is restricted

as preservative for wood industry.
Discuss about their alternatives.

Fhm oie wEEes 0 RTEOE (FAT
e Arge 91 (e SIS SReRes R
AR e

What are lignins ? Explain the use of

hydrogen peroxide for catalyzing the
process of delignifying. 2+8=10

ﬁ’f‘:ﬂ?ﬂ (A %? rb“{r;ﬂﬁlmm 3]]::;-._(4]@ W Wq[
ZEg (o (olRTliea e ara few

What are cradle to cradle carpeting?
Write at least two of the twelve
principles of green chemistry in case

of recvclable carpet.
TR 5 Fen @veb [ R Ees
TG IR e FEE zf—m Fom 5%

weBy reEe AT TR T

3oder-4CRCS CHESEL 234556 12

(f)

(q)

()

won e

Write the advantages and
disadvantages of perchloroethy lene
(PERC) used as a solvent for dry
cleaning. Draw the structure of
polvstyrene CO,- copolymer. 8+2=10

g FRGER (RIS RS T4 oS S AR
(PERC) Hfai o SRR &4 G2 ERD
F-GE-EEE AT AWANE G S |

How can svntheuc azo pwments
replace toxic organic and inorganic

pigments ?

Ferafrs a7 AgFRIE R e T s
TR FGIAYT T WK

Write the principles of green chemistry
with suitable examples.

ivT T eisEE Bl 1A S
et |

13 Contd.

Pros 31436 G




OPTION-C

( Pharmaceutical Chemistry)
Paper : CHE-SE-4034

1. Answer any four questions from the
following : ix4=4

wore fnmi erifeTas o<l e 5519 Tes a9

fa) How many numbers of N atoms are
present in vitamin B, ?

bR By © s s N il Qe
(b) What are NSAIDs?

NSAID 3fva & go e
(¢) What is fermentation ?

e ofe (FRErhe) B e

{dj What is meant by a lead compound in
medicinal chemistry ?

eI T Reme wad (@5 (Fre @)
HeA & g@e

(e} Define chemotherapeutic index.
@ TresR we )

(ff  Write the name of two enzymes involved

in the fermentation of glucose to citric
acid.

3 15em-4/CBCS) CHE SE 1/2/3/3/3/6/G 14

(i)

(h)

ISEd R piEhE aE (ar fawe afewme
(GRT00 ) AREE (@RI Fh7 SROE wN
frpa

What is the heterocyclic ring system
present in vitamin C?

febifim ¢ o= ZoRbiEEs [Rae & =m0

What are barbiturates ?
1=2fHTED @fﬂtﬁ = 3=y

' Answer the following any three questions:

AT

(a)

h

2x3=6

o #]l e fofdbe ©et <=t ¢

How many numbers of stereoisomers
are possible for chloramphenicol ?
Which isomer is responsible for
antibiotic behaviour ? Draw its

structure.
FRANCTTTS (Fapl (FRSSEHNR AT ¢
Ericipnioical

What 1s the heterocyclic ring system
present in vitamin Big ? Write the name
ol a disease that occurs due to the
deficiency of vitamin Byy.

Der s SO S VY166 15 Contd.




3. Answer any two questions f[rom the

1
J

febifsm B, © o< Zh@EbEes @b =t
feoIfem Byo 5 ©ree Trrd & @aw 25 A= s
{c¢) Name the prodrug of dopamine ? Why

cannot dopamine be administered
directly ?

oy o~ . - Fanlil P -
T AR W €94 (2gieD) < 27 TR

fon arerrere ord ke =EEa e

(d)

Define agonist and antagonist drugs.
Give examples.

£ -

Q57T s OBIET % STy A S T TR
Tl |

fe} What are meant by hypnotics and
sedatives ?
feomor o= seive o = 3= e

{fi, What are analgesics ? Write the name
and structure of an analgesic drug.
SAETEbEE & g 9B samEhe ger
ST T S AERE el

following : 5%x2=10

Te fral aimea viw [ whe e 59
(a)

What is leprosy? Which bactersl
species is responsible for leprosy ? Write

the name and structure of an
anti-leprosy drug and proposc a
svnthesis for it 1+1+3=5

Sem-+,C3CS CAESEL 23456 16

Gt (R 2 3 0300

A B R (TR AEGRE T

— -

wfes = anF @6 AFG-ma S €748 AN T

»

TiE HWEE 2eiE ] AN T4l

(h) What are sulfa drugs? Draw the
structure of sulfacetamide. Under what
medical condition it is being used?
Write the name of two bactenial species
against which it is active.

1+1+1+2=5
S Biel §E o g 2 SR AT EIRe fion
a4l | B B eEne agel [T
w Ty Fh7 (AEEAR AF (Ed W TR

— — -~
sl afbbEize WEd 24 |

(c) Write the structuie of itbuprofen How
many numbers of sterecisomers are
possible for tbuprofen and which isomer
1s therapeutically active ? Mention two
advantages of ibuprofen over aspirini.

142+2=5
g T i WS [weli AEFU TS
fraBl AR EEEEN A4rE GiE (FFED !
TR G ReEme Aed Gt
o= gt e
g A 75l A T

{d} Draw the structure of L-Glutamic
acid. How is 1t being synthesized by
fermentation process? 1+4=5

17 Caontd.




(e)

S57-2! 5 [3=E \515 &q ‘?T TIRCTE T(gEs 4l GE-
25 afvs fwm wfrmre @omms AT o
2, G =<

What is meant by vitamin C Icachmc ?

CFHoiErEn gt 9oes feIs 4
B (TS «WW%%W%@%@I@
faoi® T wAEY ¢ AR EHeT 2T G
A ==

. t’)
(i What 1s a cardiovascular aazn 1
Name two dletary sources of vitamin C. Write briefly about the medica
Write the name of two bacterial strains condition in which glyceryl
commonly used for synthesizing trinitrate is used. Proposec a
L-ascorbic acid through fermentatlon method for the synthesis of
2+1+2=5 glyceryl trinitrate. 1+2+2=5
febifm ¢ e e o w7 Rbifm C = 757 FifoerorgaE ST (4UerD) A
SRS T A sl | T afeamamy gn- farmaize HIEET0 TRLN (R e
IR AT AT miee amme 757 ARfefer farm Tz @) s
(TCERAR B INEQICERAES] (e 51 TR |
(f) Write the structure activity relationship (i) How does paracetamol decreas;
(SAR) of penicillin analogues. the body temperature?
CARefm Feidls (wifie srenfme) o (RIS (AER TR (g1
fraca | '

() ) In the industrial preparation of
Answer any three questions {rom the ethanol by fermentaui)n -
following : 10x3=30 e oimfod glal 2w SrmllelE
©TS sl wsifRE v ey fefire o ) . 4 AT EHIAE —
(@) (i) What is the nitrogenous base

(A) What is the starting material
and what percentage of sugar
does it contain? 2

present in the antiviral drug
acyclovir? To which virus it s
effective against ? Write the name b
of a prodrug for acyclovir, 3

3 Contd
e DURCSCHE ST 1203045606 19
3i%em-+CBCS CHE SE 1,234,566 18




JiSem -~ C30y (NI SEC

(5)

(C)

(D)

(E)

(Fj

f iy
T

UE ARG i e 3P

——r e P
TS (&) ey

T &R

Name 1wo microorganisms
that can carrv out the
fermentation. 1

fan) [l
D BN I i LA P ?e-‘hla*. A T

—

i .._.,:::._W o~ . P
A *l ‘!i:{""‘ "7 It.u'r.“?‘ “'i"‘:j' rn-;(:"}!

What are the nutrient
substances added ? 1
SO A A R T L R A B 2

What 1s the optimum pH
range for the process ? 1

What is the optimum
temperature for this
process ? 1

= ~
L% UiEE ATd IETHET LasE

= L
—
T [—Y:
e &

Why is addition of oxvgen
necessary although the
process 1s anaerobic ? 1

ST GReTlem (3 wree
o~ — — =
UG (319 TRND) (9% AT v

86 20

(c)

()

(1)

(1)

(i)

{1

son ¢ UBC8)CHE SE 17233000646

Wiite the name of four food
sources of vitamin Bs. What is the
aliphatic side chain present in
vitamin By ? 2+1=3
fEbifam B,T BIRD! ¥ oM i ol

—

5 By (€ 97 @felbe biEE (5%
e

What are benzodiazepines ? What
is the trade name of the drug
Diazepam ? In what medical
condition this drug is being used ?
Propose a synthetic pathway for
drug Diazepam. 1+1+2+4=38

rEeRdEeEa e ' e
eafarmr afte o e e cfers
TEEre «3 Telcd qEER T W?
Tinafeenm a5l FiEEd Jwhe

What are the essential requirements

for a compound to be an antibiotic ?
2

451 che «FBan e TEE IRSE
TGN TSITE & 0

What is meant by retrosynthesis?
How will it help to design a
svnthetic route for a particular
compound ? Explain by considering
any drug molecule. 1+4=5

21 Contcl




(e}

(i)

(i)

()

(Tiemdfer I & @ 9n G
RO HiEFHe 3 wrs wEm @ v
Rz 1 el o i =5 |

Write briefly about the development
of barbiturates. S5

IRFOTEER Remm frarm sates el

Provide two examples of b-
lactam antibiotics with
structure. Why are these
compounds named such? 2+1=3

ASTZ 95! f3 - Fr «Faafiesa Twreas
fra 1 @ o A B e
= e

Draw the structure of cephalosporin
C. Nam(? the fwo heterocvelic rings
presentin its structure Provide t}:e
name .t:md structure of the molecule
thatl is the starting point of
semisynthetic cephalosporins,
[+1+1=3

TEEDARA C T 9w el | @R s
Qm:w 7ol (WRBIEEE Req arg foye
(el e sef wree 701
TEF AN TE S5 T2 | ‘

3{8em-41CBCS) CHE 88 11),314:3/606. 22

(f)

(tii) What are aminoglycoside anti-
biotics ? Give one example.
Mention fwe adverse effects of this
category of antibotics. 1+1+2=4

AfralEeiEe G Fharies e [ 3@ ?
g5 Twigae | 9% gee 9 FpaEie
et 7 ST Tl

Let us consider the commercial

production of penicillin in a fed-batch
reactor by fermentation.

= ARBREE RREeE aee F9 =W

i)  Which are the two main species
used for fermentation? 2

farel aifEFansre @w 7o wie RemiE
IR <9 T ¢

(ii) Which between those two is used
mainly and why? 2

7% oIBE (R (@S TN @
i &E e

(i} What is the source of carbon? 1
e T T 7

(iv) What is the source of nitrogen ?
1

ST 55 e T a6 e

s O SE 120304031606 23 Contd.



@]}

fv)

(vi)

fuii)

(1)

(1)

T T (0]

What pH range should be
maintained ? 1

pH= «iTR e 79 sy

What chemical compounds are
used as precursors for production
of penicillin V and penicillin G.
Give their structures. 2

(DR Vs (o ke G eizr
AT (G AR e R
Tt FAReE agw wiwe el

Which chromatographic technique

is used to monitor the production
of penicillin ? 1

(AR e (TET YNF| TERAR FaE

R UL (FiE 91 A
T 7Y
What is retrovirus ? Give example.

2
S — ~ "~ e
(F0 ez I RE gy TR e

Write the structure of
azidothymidine and menton to
which class of anti-HIV agents 1t
belongs. 2

AfFE SRR som Faee 751 fera

GFB-HIV (X573 T,

de3pm-4 CBOCHE SE 112.3:40535.6 24

(h)

fui) Starting from D-mannitol as the

(i)

(it}

S (RF ST 33

casily available source for the
construction of the sugar
nucleus, describe how
azidothymidine can be
synthesized. 6

Te-Ifnas widerR TaTrey e ol
57 Rk Wfew SRR @re g =1
=7, I¢fe T4 |

What are sulphonamides?
Mention two uses of 1t. Describe a
method of synthesis of 1t
considering aniline as -starung
materal. Give one adverse effect

of using sulphonamides.
1+2+4+1=8

wETE AGSRerA & ' e LA 57 9eER
TrEY T | @RS o[/ ZEE awing
(RTAE WET T W GHE GINLE
TeEReE G5 erEiG T

What is co-trimoxazole ? 2

CO'U 1€+ ,lmlc"i E s |<“ Z:gi"

Conid.

U.
[=3

ooy
o
w




OPTION-D

{ Chemistry of Cosmetics and Perfumes)
Paper : CHE-SE-4044

Answer any four questions from below
1x4=4

ware 7l 2@ Rl BI<GIT Ueg =4l ¢

(i) Write the basic purposc of using
face powder.

e AT REE T TA T w2

(1) Why is preservative necessary in
shampoo ?
@[ TEEE (@ T 9ER [

(i) Is hair spray related with hair loss?
(AR (ER TS B PR AAE R T2

iv) Name the essential oil used in cold
and cough remedy.
%z WiE TFe GAIR T SRS (TG
e |

(v) State the statement True or False -
s Al (7 T e e
Geraniol is a monoterpenoid.

(o=fraE e BRI |

3 18- +/CBCS) CHE SE 1,2/3/4)516/C 26

fin) Why is 2-phenyl ethyl alcohol used in

perfumery.
0-fEa 2UEA ame e AfRHiEe IREE
PRk

(vir) Name the vitamin which is related with
good hair growth.
i O s Qi wcies @Rl fesiftE
e T 4|

(vin) Mention the plant part from which
jasmine oil is extracted.

(EHEE (TF ST (TR S 217 TN 1 2
TrEd <4 |

Answer any three questions from below :

2x3=6

<& T 4] LHEIES Firesren FEfaGre Taq faen ¢
() Write two side effects of hair dve.

(ZAR T AR TG 55 (QE T erEe 4 |

fn)  Write two main constituents of a good
shampoo.

.. — . —, e — .
sfzr BF TR 70 AR S ErEd 354 |
fir)  Name one natural source of geraniol
o1l and mention its one use.

(SATEE (SFE o) ﬁlﬁ‘-fﬂﬁ Tz O Y W
Lde e L5 TmERd W

coesCnE s B3Rt 27 Contd.



fivj Mention fwe main types of face powder.
79y YR 4T TR VR ST 4 |

ful  Write two natural sources of
2-phenyl ethyl alcohol.

o -~ o
2-foigE BuiEE GeREE B/ digien G
SEY T4 |

(vi} Write two primary ingredients of
lipstick.
meiias 701 4y e i

3. Answer any two questions from the
following : 5x2=10
wEe (7 wEs AR whie Tea e
{a) Define cold cream and vanishing

cream. Why is cold cream used during
winter season and how does it work on

human skin ? 2+(1+2)=3
s (o o (elfss o e s ol &g
o B SiearTe 9raeR 302 siE I o7

COE B (FEETE B @y

(b} What are antiperspirants and what 1s
its main use? Write its one basic

ingredient. Write its two side effects.
2+1+2=5

j \E""l‘ (.BCS}CU.., LL.] 2 3 "‘O’!J G 28

()

(i)

A T ows T
G2 TET w7 (= Sl RIGTE e T

s 4B F AR e
S opaff EOEE G

AMEgT FTE7 &7

f2‘.[

-

Write chemical composition of ralcum
powder. Why and how does it hein
human being?

AN 7SR A WYhe w1 Y I

How does lipstick work on human
skin ? Mention four genuine reasons,
how long-term use of lipstick may
harm human beings. I+4=5

— o~ - -
WTER wme millerE (e T aE 0w

>
_

7 il TRgE WL B TeER @k e
e e mﬁw TR T @ |

What is muscone ? Mention its natural
source. Write 1ts physical property. How
do human beings collect it from natural
source and use 1t ?

o - -~ — =
NI R ¢ TOE YIS TR Ty 991 | 2EE
- PR P pore
I e T-— ‘ -Jf ]? .<< sz st L THE 91(:«{
’C‘l ('C?‘ \,Jf?- << (‘ |i;

tefare TNE
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(f Which State of India has highest

sandalwood o0il? Mention four

important factors on which good
composition of sandalwood oil depends.
1+4=5
CRed (TR ITTE THIROE (A% SRR
(51 BRAWA TM? 9T GRS (T ARITH,
f& sieer T=s Sitg TEd 9|
4. Answer any three questions from the
following : 10%x3=30
weTe 73l ZeeEa foese e fofane Sed a g

fa} () Define essential oil. Mention the
basic technique of extracting
essental oil from nature. Mention
the special solvent which is used
during extraction. 1+2+1=4
R N (5] & (A 14 | 2RFRes #1@1
SNSRI (S SNEIE TA (R EEL]
T SR | (T LR AME TGS [
VRS Wi S 4 |
iy Mention how human beings use
the following essential oils for
thewr purpose :
(1) Civerone, and {2) Eucalyptus oil.
2+2=4
(RRFARCE HEES WA e g
(1) 576w, o= (2) TEEE#06 (&5 |

318e:-4+/CBCS; CHE SE L, 273 41566 30

b

(h)

(111)

(1)

(11)

Write two basic ways bv which
human beings use essential oil.

V]

TR SR (99 I9ER FEE A6 TA
4R Ty <= |

Mention three methods by which
rose ol can be extracted. Which
type of rose is mostly used for oil
extraction ? In what different ways
rose oil may be used ? Mention one
chemical compound generally used
alternative of rose oil.

3+1+2+1=7
S WA LTI R o g v
TTHY @9 (FEAE sEne] OF (9
TR AE COYE ¢ (AT (oF ==
Y ARG el AR 7 (SIS (9F% e
TagE @ FHEWE e A e
A |

What the is the purpose of using
shaving cream ? Mention two
alternative compounds of shaving

cream 1+2=3
(Gles e e a<iE T e e
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fc) (i} Write four chemical compounds
present in good/best face powder.
4
Tes EE ] *ETET IETT b
amRfE GeR A S 59 |

{ii) What is the best sources of (¢} (i) What is nail enamel? Write five

fif)  Write about the therapeutic use
of different essential oils. 5
ffen TEeeRl (CFEd BReeA (FaT
(R TRERE @

cugenol o1l In nature? What
method in adopted for 1ts
extraction ? How men use 1t ?

Write the names of wo good
thickeners used m a good
shampoo. 1+1=2
AR )

Whyv is using hair sprav
necessarv ? How is hair spray
related with health of hair ? Write
three differences between hair
spray and hair dye. 1+1+3=3

(zaE (7 TR TR ArETATES] [0
l;v"i:‘I FEE AT, (EHIR D 9L
(RregEeay i? CE T (ZTR TET

rsfesr ffﬁﬁf“q?_\ 1%,-4”

EL 34506 32

basic chemical compounds present
in nail enamel. 1+5=06
w2l AT [ 7 T e A% IE A0
o g i ol
(i) Mention two methods by which
analysis of essenual oil is done.
1+1=2
SR IT (O FRraEe TEE 75y o B |

() Write the basic difference between
hair removing cream and shaving

cream. 5
o~ —

R e T a ofed fawm 707 3

ICCEREN

Write 1n short about the following :
5+5=10
Twe T AR eofaT ouiE el g
i Cosmetic safety
7R EeTEl
() Purpose of using fragrance
matenals

ol T TEREE W@ T

Vs s 2 3386 33 Contd.



fg Chemically what is a nail polish

(R

remover ? Mention five basic chemical
components present in nail polish
remover. Why do' people use nail
polish ? Write two side effects of nail
polish using. 1+5+2+2=10

TSN 94 Al Rrrer & 99 <
fecrerms =1 25t S ARt Somm S
T =R 99 e @ aanE w5 ¢ 72 siifeme
yor At S &= |

What is suntan lotion? Place four
strong opinions regarding the use of
suntan compounds by human beings.

2+(2x4)=10
BIFIEA W% & 2 NRRE ¥ITR AT SRIG
(MR TR {10 59 7e wers fgy |

3 Sem-+4/CBCS) CHE SE 1)2/3/4/5/6/G 34

OPTION-E

{ Pesticide Chemistry)
Paper : CHE-SE-4054

Answer any four of the following questions:

1x4=4

T TR e Bienre Ued fal g
(Choose the correct one !
wg Tearh) 7 ST ¢

(1

(1)

Which of the following is not an
organochlorine pesticide ?

©FE (TG A Re oA wed ¢

(A) Malathione (I
(B) DDT AR
(C} Aldrin Vi

(D) Endosulphan @€Q=E

The chemical used in ‘National Malaria
Eradication Programme’ is

AE Rl TS IS AR
IR e

(A) B.H.C ICRUETATS
(B) DDT fefem
() 2,4-D 2, 4-f
(1)) Pyrethroid ARIYTT

Coa OB OHE SR 1/ 2137415/6/6 35
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(i) Natural insecticide obtained from neem

leaves is

T AREs 2] SiEas 9 AiGied oA =5y

(7%

(A} Azadrirachtin

(B} Nicotine

{C) Lawsone
G

(D} Ecdysone
JEETIE5

(w) ldentify the weedicide amone the
following : -

CHE TRIERE SGE 7R Ay e

(C)

(D)

2,4-D

2, 4-f¢
Parathion
AT
Chloranil
Sporein
AR

Phr-duBE ESET 34566 36

(v}

(1)

The pesticide used in foundation of
buildings for preventing termite attack

15
THrelieE STER SR T SRIA DRI
foe arae 1 FHATRL (TR
(A) Gammaxene
(SIS
(8) DDT
ferel
(C} Aldrin
=
(D) Endrin
ST
Ratenone is a/an
ichGitis
(A) insect hormone
&G 9w
(3} natural insecticide
() bioherbicide
(T e
(h}  weedicide
L] LTI

i 37 Conid



(vti) Alachor is an

GFET «fey

(A) organophosphate pesticide
(GIELTC BN

(B} anilide pesticide
AT Foare
(C) organochlorine pesticide
(D) None of the above
EHATY GBIC TR
(viii) Carbofuran is used as
{A) an agricultural pesticide
<y Rare FHamm Zoe
(B) a fruit ripening agent
T PSR T ZoIe]
{C) a food preservative
G HTEE ZIel

(D) a moisturizing agent

N eER; #mel fZ5ie!

3iSem-4/CBCSI CHE SE 112/3/4/3/6/6 38

Cyve

very short answers of the following :

(any threej 2x3=6
R R R ks ke A R (s fef5r)

(10)

what do you mean by herbicides ? Give
one cxample.
o e o geie @ S i |

Name two organochlorine pesticides.
Yy TEEg Kol S (IS A T 4l |

What are rodenticides? Give an
example of commonly used rodenticide.
AR (@R {2 AR Rae iy
i A S S

Can algaecide be consldered as a
pesticide ? Which algaecide is used to
control algal blooming 1n ponds, lakes
cte?

KT I e B o1el A ARG 2
(il RIS 73T TS ARETS TR
vyGe fFITEe $ArS YR T T2

Whal is the full form of DDT ? In which
class of pesticide it belongs to?
wiufa ool ol e T ERETR SHAHE

Al Tt ¢

Conogul sE 3 anine 39 Contd.



(v What 1s the mode of action of
rodenticides ? Answer briefly.

TESUENMHRTANE foara (1 ora s savas B |

3. Explain briefly any two of the following :
5x2=10
WCEE A 7ord Em vie me e
fa) Use of Gammaxene as a pesticide
IR S sl aamm
(b) Organophosphate pesticides
(c) Methods of pesticide residue analysis
FomE SR R sigfs
({d} Synthesis of organophosphate pesticides
{e) Agricultural pesticides
IRTre SihmERs

4.  Answer the following questions - {any three}
10x3=30

SR MPRSE TR 9= ¢ (e B
{a) Define pesticides. Discuss in detail
different classes of pesticides by giving

example of each class and their mode
of action.

38en-1 CBOS CHESE 12,3436 6 40

(i

)

i)

LDIFT Few 71| FoarE e [{fen
41t isisl el AR TR T SuEsel
e [eTEia e 99

Wihat are organochlorine pesticides ?
Give chemical structure of any two
such pesticides. Write the applications
ol some commonly used organochlorine
pesticides, How can these pesticides
Mleet human health ?

St fetel SIGAMIPTRNR & 2 Cotgn Areal gk
+ LA IPTR 510 fo74) | <oeTelE %o
(ALAEA o e FoAe s eTmel STt
Fereli | 4% SR oARILTTE, (G S2a FER
eI e

What do you mean by pesticide
1esidue ? Discuss 1ts impact on human
health Describe various methods of
pesticide residue analysis.

A bel<i<s SR A & I& 2 Wiwa <9190 3T/
Aol APAE AT T | FHARE TR
Lirarsl Rien ~mfenss Ram a=a% &

What s chloramil ? In which category
ol pesticide 1t belongs to ? Write its
muolecular structure, Discuss about its
wntheses, uses and harmiul effects in
eletonl

|l f67 3 (@R GRITR SIoaeTs SREsfe 0
St i oigm v | 2k erefs, TR i
o e Raa ARTEE S 59T |

e 41 Contd.



(e}

)

(g

(h)

Explain in detail the benefits and
adverse effects of different kinds of
pesticides.

fafen Fomms TITed FieiEe S e aer
S e g e «@

Differentiate between natural and
synthetic pesticides. Explain with
examples. Write about their advantages
and disadvantages in detail.

aigfes oiw rafee FHax MEs 34
ereATE, SHisReriE YEe frdl | Preea k-
sHfamEE e Rgeeng Ful)

Write short notes of the following :
{any two)

=@ Figeral ghre REacs v oblel T ¢

() DDT fefelb
fii} Malathion AN
(iii) Chloranil 9=
{iv} Alachor GRS

What are carbamate pesticides ? Give
examples. Why are they used for?
Discuss about their toxic effects. How
can we analyze carbamate pesticides ?

FIG Doz ¢y Svrael el | «F 92

Soare e TR @@ @y 3R [Ee
ASR FTAE SNETSA w4 | S " @
S FHTeT [rss FfE w2

3 Semi 1+CBCS) CHE 82 162/314/5,6/G 42

OPTION-F
{ Fuel Chemistry)

Paper . CHE- SE-4064

Ansvwer any four of the following questions :

(t1)

(h

{c)

fel)

i)

Il

Cro Il YeG 43

1x4=4

< w3l feigetel BEE A%E el vl 2

What is the formula of producer gas?
T Tor (s ARSI @

What is flash and fire point of
lubricant ?

WETA FI5 TR TR [/ e

What do vou mean by power alcohol ?
YAF 9T FEA JEE [ 3@

Define octane number.
AR Cnci TRl

(nive two examples of antiknocking
Jdeents.

R arered BB Bwise |
Nefine calorific value of a fuel.
el (R QAT (CE]R T I
Detine pitch.

bl FigERl TR |
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(h) Give two examples of gaseous fuel.

(BT TR 757 owizael fml

2. Answer any three of the following
questions : 2x3=6

were WA [Reear fofasr ome Oeg T ¢

(a) What are renewable and non-renewable
energy resources ? Give one example of
each.

TR S TSl *feq SRR
& wror@ ot Gwigad Wl |

(b) How 1s coal tar formed?

fc) Write the differences between thermal
and catalytic cracking?

SIFTE (T IS SEOR I (T ieq A1 o1l |

(d) Mention two routes for the manufacture
of isoprene petrochemical.
fEp’ o (AGEee IS e AR 1)
s Trae 4 |

{e) What is the difference between base oil
and additives ?

T (TA W AR 5 A B

3 ISem-4/CBCS) CHE SE 1, 2/3/4/3/6/G 44

(M

Define ultimate analysis of coal.

el pORE Reeael orafes g |

Anower any two of the following questions :

5x2=10

cots wnit Fizerc w5 2 Bl Tl 5

(t1)

(1}

fe

lHow are fuels classified ? Why are fossil
tuels regarded as the most important

source of energy today?
2+3=5

L TEIR @ (MGl 1 22 ShfeaiE|
S T T aegsd xifew B fapist oie
gl BH?

What is coal? Discuss briefly about

the compositions and types of coal.
2+3=5

1rle]] e TAR 9o Wi [fen TR edTs
LR AT Sl

Write short notes on the following :
2+3=5

Ly (Gl TR

(1} Coal gas
2] (912

()  Water gas
PEIcNAT

COHE 1 renneia 45 Contd



(d) Classifv petroleum according to the
types of hydrocarbon.
(TR efiRerew o= |

(e} What is hydrogenation cracking ? What
are the catalysts used for catalytic
hydrogenation process? 2+3=5
RIZGETH (@ e wmwsFiy
WWGEES & & wpahe ame 39 200

{f)  Write shortly on aromatic
petrochemicals.

RTEOT (ABERSEIS e es 5N |

4. Answer any three of the following
questions : 10%x3=30

TS [l R fofnr wxm Seq frai o

(a) Classify petrochemicals with their
compositions. Describe the method of
preparation of propylene oxide by
chlorohydrin process. 5+5=10
e eeme fefe 3R (IBfmrere s
e =1 | 397w e 7 2o
SRS YweTEd I 59 |
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(h)

Describe the general properties of
lubricants in brief. How are lubricants
classified ? 7+3=10

(45 YR HR{EER AT T | TR
ez (afiersa 9 28 AET 10

What is biomass? Briefly discuss

chiferent types of biomass. 4+6=10

g e [iSn oFRE TR 8PRT b

wifailper] %47 |

(i) Calculate presence of percentage
of C, H, N and S from the following

ohservations for a sample of coal :
5
2 1¢g of coal is burnt in a
combustion tube. The increase in
weight of anhydrous CaCl; is
0 53 g and increase in weight of
KOH tube is 5.73g.
C, H, NSi® S-1 e *reas) #ifwe
i PR ol e 4 g
2 1g TE! 5] TS TE T R | WAL
CaCly-3 A4S =4 2’7 0.53g 9%k KOH
2l 9 v 7'E 5.73g!

i} Write the positive aspects of

miclear energy. o
fivf g wge eraRa e
e ey 47 Contd.




